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AB'/AC' =AB/ACT R(A.B:C.D)=R(AB:C.D) ox (3
C=D 1 R(A,B:C.D)=1 ox (1

C=D X A=B X R(A.B:C,D)=R(B.A:C.D) ox (7

"MTPIT NX1p 5¥ X" ,R? -2 7907 Sy om0l (X .2
S*= {(X,y,z)ER3 : X2+y2+22:1}

:S% 5y mpw o 1T

(x.y.2) ~ (xy'.Z) & (-x.-y.-2) = X\y.Z)
S%/~ i amma MMpan a2 RP? -2 mmipin 12 991 30 219m wow
(DTN R T DM TwIn?)
I APRND Y0 101 — X"'T) RPY 7o n -7 °2°0p100 e M2y (X 9°Y0 DX 127937 (2
(MR

DX 1722 9Ny — ') nrnna v ALB,C.D mmpiaw 70 ooxan oompn 93 D amipr a3
:(axknma D 77paa DX 177¥1 777 0OX2T 0N

|}

(N
A C B
O O O
(2
B A C
@, U0

77127 DR anPRO MYewa L/ v arRw Poampn 7w v mmipa visw AB,C mavan 4
i AB.C.D mva1aw 70 7 2y D ampl 5w DumNean

121 L a37p12 2°01pp a,b,c 0w nweow oy 12N (2" hw nroRIT 012 (177°X)) 1IRN
(N7 AYR2IR 1IRY WPOIT) amIn ab.e.d 77v2w 12 L7 2ww d we



W DY MTIPI DY 219510 ONN R(A,B,C,D,) P (MTPI 30) .5

ikx

TWND ,D,=¢® M. C=1,B=0 ,A=c0 TUYNDI PIOPNMNIO 201N
k=1,..,6
NNN 51951 ONYN DY DINYN DPIVANRD DIIIYN DD N8N .N
. k=19WYND (A,B,C,D,) 7Y 5V NMNNNN DD
NNN 195N ONXN DY DMNYN DOIVAND DIIYN DD N8N A
. k=2 YNNI YN DY MIIMNN DO
DN DY NN NT OMY DY DY OIINRVIV 9010 f(k) NN L)
VYN .(A,B,C,D,) TPYIAIN DV MIMINN DD NNN 51900
ck=1,..,6 DOPTIONN DV NYNON MIPND £ (k)



